104, M G Marg, Lucknow-226001

<u> </u>			22150 01 1	ucuiii sei	1001/ Laucation		Per tres r o		_ 0.000.			
Sr. No	Zone	City	Yojna/ Apartment Name	Property Number	Property Type	Area (Sq.mt.)	F.A.R	Reserve Price (Per Sq. mt.)	Property Cost	Token Money	Reservation Category	Disposal Method (Lottery Draw/Auction/ Registration)
1	Lucknow	Lucknow	Amrapali Yojna	H-3/PS-1 (CORNER)	Primery School Plot	2134.43	0.8	42090.00	89838159.00	8983816.00	Gen.	E-Auction
2	Lucknow	Lucknow	Amrapali Yojna	E-6/PS-1 (CORNER)	Primery School Plot	2561.87	0.8	42090.00	107829108.00	10782911.00	Gen.	E-Auction
3	Lucknow	Lucknow	VRINDAVAN YOJANA NO1	5B/PS-02 (corner)	Non-Residential, Educational/School Plot	4141.46	N/A	38500.00	159446210.00	15944621.00	Unreserved/ General	E-Auction
4	Lucknow	Lucknow	VRINDAVAN YOJANA NO1	5C/SCH-101 (corner)	Non-Residential, Educational/School Plot	1386.43	N/A	38500.00	53377555.00	5337756.00	Unreserved/ General	E-Auction
5	Lucknow	Lucknow	VRINDAVAN YOJANA NO1	5E-1/SC-1 (corner)	Non-Residential, Educational/School Plot	2808.00	N/A	38500.00	108108000.00	10810800.00	Unreserved/ General	E-Auction
6	Lucknow	Lucknow	VRINDAVAN YOJANA NO1	6B/NS-01 (corner)	Non-Residential, Educational/School Plot	669.37	N/A	38500.00	25770745.00	2577075.00	Unreserved/ General	E-Auction
7	Lucknow	Lucknow	VRINDAVAN YOJANA NO1	6B/PS-01 (corner)	Non-Residential, Educational/School Plot	2909.70	N/A	38500.00	112023450.00	11202345.00	Unreserved/ General	E-Auction
8	Lucknow	Lucknow	VRINDAVAN YOJANA NO1	6B/PS-02 (corner)	Non-Residential, Educational/School Plot	3108.00	N/A	38500.00	119658000.00	11965800.00	Unreserved/ General	E-Auction
9	Lucknow	Lucknow	VRINDAVAN YOJANA NO1	6C/PNS-02 (corner)	Non-Residential, Educational/School Plot	3575.20	N/A	38500.00	137645200.00	13764520.00	Unreserved/ General	E-Auction
10	Lucknow	Lucknow	Vrindavan Yojana No 2	7A/N.S-1 (corner)	Non-Residential, Educational/School Plot	756.89	N/A	38500.00	29140265.00	2914027.00	Unreserved/ General	E-Auction
11	Lucknow	Lucknow	Vrindavan Yojana No 2	7B/P.S1 (corner)	Non-Residential, Educational/School Plot	3167.69	N/A	38500.00	121956065.00	12195607.00	Unreserved/ General	E-Auction
12	Lucknow	Lucknow	Vrindavan Yojana No 2	7D/NS-01 (corner)	Non-Residential, Educational/School Plot	798.20	N/A	38500.00	30730700.00	3073070.00	Unreserved/ General	E-Auction
13	Lucknow	Lucknow	Vrindavan Yojana No 2	10B/NS-02	Non-Residential, Educational/School Plot	1171.26	N/A	35000.00	40994100.00	4099410.00	Unreserved/ General	E-Auction
14	Lucknow	Lucknow	Vrindavan Yojana No 2	10C/NS-01 (corner)	Non-Residential, Educational/School Plot	509.15	N/A	38500.00	19602275.00	1960228.00	Unreserved/ General	E-Auction
15	Lucknow	Lucknow	Vrindavan Yojana No 2	10C/PS-01	Non-Residential, Educational/School Plot	3080.00	N/A	35000.00	107800000.00	10780000.00	Unreserved/ General	E-Auction
16	Lucknow	Lucknow	Vrindavan Yojna No 4	20A/SCH-01	Non-Residential, Educational/School Plot	732.25	N/A	31000.00	22699750.00	2269975.00	Unreserved/ General	E-Auction
17	Lucknow	Sitapur	Panchwati Yojna	C/SCHOOL PLOT	Non-Residential	4496.16	8800.00	39566208.00	39566208.00	3,956,620	General	E - Auction
18	Meerut Zone	Meerut	Madhavpuram Yojna- 10	3NS-1 (Corner)	School Plot (Primery)	1691.70	As per bye laws	19965.00	33774791.00	3377479.00	Gen.	E-Auction
19	Meerut Zone	Meerut	Madhavpuram Yojna- 10	3NS-3 (Corner)	School Plot (Nursury)	894.00	As per bye laws	19965.00	17848710.00	1784871.00	Gen.	E-Auction

104, M G Marg, Lucknow-226001

Sr. No	Zone	City	Yojna/ Apartment Name	Property Number	Property Type	Area (Sq.mt.)	F.A.R	Reserve Price (Per Sq. mt.)	Property Cost	Token Money	Reservation Category	Disposal Method (Lottery Draw/Auction/ Registration)
20	Meerut Zone	Meerut	Madhavpuram Yojna- 10	Sector-4 (Corner)	School Plot (Primery)	1575.00	As per bye laws	19965.00	31444875.00	3144488.00	Gen.	E-Auction
21	Meerut Zone	Meerut	Jagriti Vihar (Exten) Yojna-11	3/2 (Corner)	School Plot (Primery)	1620.00	As per bye laws	27830.00	45084600.00	4508460.00	Gen.	E-Auction
22	Meerut Zone	Meerut	Jagriti Vihar (Exten) Yojna-11	4/1 (Corner)	School Plot	3327.40	As per bye laws	27830.00	92601542.00	9260154.00	Gen.	E-Auction
23	Meerut Zone	Meerut	Jagriti Vihar (Exten) Yojna-11	4/2 (Corner)	School Plot (Nursury)	495.00	As per bye laws	27830.00	13775850.00	1377585.00	Gen.	E-Auction
24	Meerut	Saharanpur	SHAKUMBHARI VIHAR (NO-8)	3A/01 (Corner)	School Plot	1844.94	1.5	19965.00	36834227.10	3683422.71	Unreserved/ General	E-Auction
25	Meerut	Khatauli	Ashok Vihar Yojna	A-Sch/01 (Corner)	School Plot	1001.70	1.5	11979.00	11999364.30	1199936.43	Unreserved/ General	E-Auction
26	Meerut	Khatauli	Ashok Vihar Yojna	D/Sch/02 (Corner)	School Plot	599.37	1.5	11979.00	7179853.23	717985.32	Unreserved/ General	E-Auction
27	Meerut	Ghaziabad	Mandola Vihar	sec 4 Primary School	school	1623.97		29040.00	471.60	47.16	General	E-Auction
28	Meerut	Ghaziabad	Mandola Vihar	sec 5 Primary School	school	1287.00		29040.00	373.74	37.37	General	E-Auction
29	Meerut	Ghaziabad	Mandola Vihar	sec 6 Degree Collage	school	19500.00		29040.00	5662.80	566.28	General	E-Auction
30	Meerut	Ghaziabad	Siddharth Vihar	sec 9 High School (c)	school	3759.55		70144.00	2637.10	263.71	General	E-Auction
31	Meerut	Ghaziabad	Siddharth Vihar	Sec 7 Junior High School (c)	school	1077.80		70144.00	756.01	75.60	General	E-Auction
32	Meerut	Ghaziabad	Siddharth Vihar	sec 8 Degree College (c)	school	15900.00		70144.00	11152.90	1115.29	General	E-Auction
33	Meerut	Ghaziabad	Siddharth Vihar	sec 10 Junior High School	school	1683.66		70144.00	1180.99	118.10	General	E-Auction
34	KANPUR	KANPUR	Keshavpuram Yojna no-1	PS/SECTOR-I	School Plot	1507.50	-	33,000.00	49,747,500.00	4,974,750.00	Un Reserved	E-Auction
35	KANPUR	KANPUR	Keshavpuram Yojna no-1	G/SCH-02 (Corner)	School Plot	3151.86	-	36,300.00	114,412,518.00	11,441,251.80	Un Reserved	E-Auction
36	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	Plot No-A (Corner)	School Plot	960.00	-	29,040.00	27,878,400.00	2,787,840.00	Un Reserved	E-Auction
37	KANPUR	KANPUR	Ambedkerpuram Yojna no-3		School Plot	2448.00	-	29,040.00	71,089,920.00	7,108,992.00	Un Reserved	E-Auction

104, M G Marg, Lucknow-226001

Sr. No	Zone	City	Yojna/ Apartment Name	Property Number	Property Type	Area (Sq.mt.)	F.A.R	Reserve Price (Per Sq. mt.)	Property Cost	Token Money	Reservation Category	Disposal Method (Lottery Draw/Auction/ Registration)
38	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	Sector-2/SH-1 (Corner)	School Plot	13869.00	-	29,040.00	402,755,760.00	40,275,576.00	Un Reserved	E-Auction
39	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	Sector-7/NS-6 (Corner)	School Plot	1097.60	-	29,040.00	31,874,304.00	3,187,430.40	Un Reserved	E-Auction
40	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	Sector-8/PS-1 (Corner)	School Plot	894.00	1	29,040.00	25,961,760.00	2,596,176.00	Un Reserved	E-Auction
41	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	Sector-8/PS-5 (Corner)	School Plot	1875.50	-	29,040.00	54,464,520.00	5,446,452.00	Un Reserved	E-Auction
42	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	Sector-8/NS-1 (Corner)	School Plot	1104.50	-	29,040.00	32,074,680.00	3,207,468.00	Un Reserved	E-Auction
43	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	(Corner)	School Plot	928.76	-	29,040.00	26,971,190.40	2,697,119.04	Un Reserved	E-Auction
44	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	(Corner)	School Plot	1648.47	-	29,040.00	47,871,568.80	4,787,156.88	Un Reserved	E-Auction
45	KANPUR	KANPUR	Ambedkerpuram Yojna no-3	Sector-9/PS-3 (Corner)	School Plot	1507.75	-	29,040.00	43,785,060.00	4,378,506.00	Un Reserved	E-Auction
46	KANPUR	KANPUR	Hanspuram Yojna No- 2	1B-N/PS	School Plots	935.47	-	24,200.00	22,638,374.00	2,263,837.40	Un Reserved	E-Auction
47	KANPUR	FARRUKHABAD	Lohiyapuram yojna Fatehgarh	6B-PS	School Plot	973.76	-	17,600.00	17,138,176.00	1,713,817.60	Un Reserved	E-Auction
48	KANPUR	ETAWAH	Spinning Mill Yojna	Junior High School	School Plot	1972.19	-	29,700.00	58,574,043.00	5,857,404.30	Un Reserved	E-Auction
49	KANPUR	ETAWAH	Spinning Mill Yojna	Inter College	School Plot	4010.00	-	29,700.00	119,097,000.00	11,909,700.00	Un Reserved	E-Auction
50	KANPUR	ETAWAH	Spinning Mill Yojna	Nursery School	School Plot	537.60	ı	29,700.00	15,966,720.00	1,596,672.00	Un Reserved	E-Auction
51	Bareilly	Shahjahanpur	Bareilly Mod Yojna-3 Shahjahanpur	3/02 (Corner)	School Plot	552.44	N/A	17248	9528485.12	952848.512	Gen	E-Auction
52	Bareilly	Pilibhit	Taigore Nagar Yojna, Pilibhit	SCH-B/01 (Corner)	School Plot	1020.43	N/A	15125	15434003.75	1543400.375	Gen	E-Auction
53	Bareilly	Moradabad	Jigar vihar yojna	SCH-01	School Plot	1909.52	N/P	30855	58918240	5891824	Gen	E-Auction
54	Bareilly	Moradabad	Majhola Yojna-4 Part- 2	SCH-6B/01 (Corner)	School Plot	2914.66	N/P	28435	82878357	8287836	Gen	E-Auction
55	Bareilly	Moradabad	Majhola Yojna-4 Part- 2	SCH-7C/01 (Corner)	School Plot	1691.25	N/P	28435	48090694	4809069	Gen	E-Auction
56	Bareilly	Moradabad	Majhola Yojna-4 Part- 2	NS-9B/01 (Corner)	School Plot	619.60	N/P	28435	17618326	1761833	Gen	E-Auction
57	Bareilly	Moradabad	Majhola Yojna-4 Part- 2	NS-9B/02 (Corner)	School Plot	1024.00	N/P	28435	29117440	2911744	Gen	E-Auction
58	Bareilly	Moradabad	Majhola Yojna-4 Part- 2	SCH-10/1 (Corner)	School Plot	9701.89	N/P	28435	275873242	27587324	Gen	E-Auction

104, M G Marg, Lucknow-226001

Sr. No	Zone	City	Yojna/ Apartment Name	Property Number	Property Type	Area (Sq.mt.)	F.A.R	Reserve Price (Per Sq. mt.)	Property Cost	Token Money	Reservation Category	Disposal Method (Lottery Draw/Auction/ Registration)
59	Bareilly	Moradabad	Majhola Yojna-4 Part- 2	PS-7A-1 (Corner)	School Plot	3986.62	N/P	28435	113359540	11335954	Gen	E-Auction
60	Bareilly	Moradabad	Majhola Yojna-4 Part- 2	SCH-10/2 (Corner)	School Plot	4011.47	N/P	28435	114066149	11406615	Gen	E-Auction
61	Bareilly	Chandausi	Sambhal Gate Yojna-1	SCH-P1 (Corner)	School Plot	4040.00	N/P	14520	58660800	5866080	Gen	E-Auction
62	Agra	Hathras	Scheme No1	3/S-1 (corner)	Educational/School Plots	2496.00		14400	35942400	3594240	Unreserved/ General	E-Auction
63	Agra	Kasganj	Yojna No1 Kasganj	1/PS-1	Educational/School Plots	3496.75		16632	58157946	5815795	Unreserved/ General	E-Auction
64	Agra	Kasganj	Yojna No1 Kasganj	4A/NS-1	Educational/School Plots	1922.77		16632	31979510.64	3197951	Unreserved/ General	E-Auction
65	Agra	Mathura	Krishna Vihar Yojna	4B/SCH/1	Educational/School Plots	1959.00		24200	47407800	4740780	Unreserved/ General	E-Auction
66	Gorkhpur	Gonda	Bharatpuri yojna	Phase /2 (Corner)	Eductational School/Plot	1587.50	N/A	16940.00	26892250.00	2689225.00	Unresrved/General	E-Auction
67	Gorkhpur	Gonda	Bharatpuri yojna	Phase/03 (Corner)	Eductational School/Plot	1826.82	N/A	16940.00	30946331.00	3094633.00	Unresrved/General	E-Auction
68	Gorkhpur Zone	BARABANKI	OBRI YOJANA	Secter -4 /S-3	EDUCATIONAL /SCHOOL PLOT	1787.038	-	22000.00	39314836.00	3931500.00	Unreserved/ General	E-Auction
69	Gorkhpur Zone	Sultanpur	LOHRAMAU SCHEME	3/PS-1 (Park Facing)	Institutional-Plot(Primary)	1512.23	-	10684.00	16156666.00	1615700.00	Unreserved/ General	E-Auction
70	Gorkhpur Zone	Sultanpur	LOHRAMAU SCHEME	3/NS-1 (Corner)	Institutional-Plot(Nursury)	710.60	-	11193.00	7953746.00	795400.00	Unreserved/ General	E-Auction